
Repair Parts
Parts List for RIDGID 10" Compound Miter Saw

Model No. MS10500

Figure 1

2

3

4

5

6

7

8

10

11

12

13

14

15

16

22
21

18

19

12

14

11

23

9

17

1

20

24
26



Repair Parts
Parts List for RIDGID 10" Compound Miter Saw

Model No. MS10500

Figure 1
Always order by Part Number - Not by Key Number
* Standard hardware item - may be purchased locally.

Key 
No.

Part No. Description

1
2
3
4
5
6
7
8
9
10
11
12

See Fig. 4
See Fig. 2
826213
823296
826055
826078
826073
823295-1
826163
823297-1
805553-4
9421621

Blade Guard Assembly
Motor Assembly
Table
Foot Locking
Knob
Fence
Base
Shim Table
Cap Grip
Spring Index
Washer 21/64 x 9/16 x 1/16
Scr Soc Cap 5/16-18 x 5/8
2

Key 
No.

Part No. Description

13
14
15
16
17
18
19
20
21
22
23
24

826057
*
*

823326
826068

*
826054
823314

*
821421-6
See Fig. 3
SP6126

Pointer
Screw Pan Hd. Type “T” 8-32 x 5/16
Screw Hex Type “T” 5/16-18 x 1
Stop Bevel
Indicator Bevel
Washer .380 x 47/64 x 1/16
Knob Bevel
Wrench Combination
Screw Hex Type “T” 5/16-18 x 3/4
O-Ring
Pivot Asm.
Owners Manual
WARNING: These items are important to the safety of this tool. Do not substitute common parts.
7



Repair Parts
Parts List For RIDGID 10" Compound Miter Saw

Model No. MS10500
Figure 2 Motor Assembly

WARNING: For your safety, this miter saw is specially insulated. To reduce the risk of electrical shock, fire or
injury, use only parts identical to those identified in the parts list. Reassemble exactly as originally assembled.

Always order by Part Number — Not by Key Number

1

2

3

4

6

7

15

9
10

1112

16

17 19

18

8

1

13

14

5

Key 
No.

Part No. Description

1
2
3
4
5
6
7
8
9
10

*
826119
826066
826012
826053
826016
826017
354653
826453

*

Screw Pan Cr #8 Plastite
Handle Right Half

• Switch SPDT
Trigger
Spring Compression
Brush
Holder Brush
Bumper
Screw Pn. Hd. 10-32 x 2-1/4
Washer 13/64 x 3/8 x 1/32
2

Key 
No.

Part No. Description

11
12
13
14
15
16
17
18
19

826163
826062
823322
823417
826488
826040
803709-1
826120
826064

Cap Grip
Lock Arbor
Spring Arbor Lock
Seal
Motor

• Cord w/Plug
Connector Wire
Button Lock
Cap Motor Housing
* Standard hardware - may be purchased locally
WARNING: These items are important to the safety of this tool. Do not substitute common parts.

• WARNING: Any attempt to repair or replace electrical parts on this unit may create a hazard unless
repair is done by a qualified service technician. Repair service is available from authorized RIDGID Ser-
vice Center.
8



Repair Parts
Parts List For RIDGID 10" Compound Miter Saw

Model No. MS10500

Figure 3 - Pivot Assembly

Always order by Part Number — Not by Key Number

Key 
No.

Part No. Description

1
2
3
4
5
6
7
8
9
10

803309-2
826096
821421-2
826058
826357
805606
803899-5
823328
823298-1
823301

Screw Set Hex Soc. Locking 10-32 x 3/8
Pivot
O-Ring
Shaft Stop
Knob
Ring Retaining
Washer Thrust

• ‡ Spring Torsion
Spacer Spring
Shaft Pivot

1
2 3

4 5

67

8

10

3

4

9

5

* Standard hardware - may be purchased locally

WARNING: These items are important to the safety of this tool. Do not substitute common parts.

‡ CAUTION: See mechanical assembly caution on page 31.

• WARNING: Uncontrolled spring release or misinstallation of these parts may create a hazard unless
repair is done by a qualified service technician. Repair service is available from authorized RIDGID Ser-
vice Center.
29



Repair Parts
Parts List For RIDGID 10" Compound Miter Saw

Model No. MS10500

Figure 4

1

2

3

4 5

6
78

9

9

10

1112
14

15

16

17

18

19
20

21

6

30



Repair Parts
Parts List For RIDGID 10" Compound Miter Saw

Model No. MS10500

Figure 4

Always order by Part Number — Not by Key Number
Key 
No.

Part No. Description

1
2
3
4
5
6

7
8
9
10

820536
826487
823300-1
823316
821421-3

*

826031
826481
823303
826667

Dust Elbow
Arm/Guard
Washer Cup
Arbor
Ring “O”
Screw Pan Cr Ty “T”
10-32 x 5/8

Bumper Guard
Screw Lock Set 1/4-20 x 3/8
Collar Blade
Blade Saw 104 Tooth
3

Key 
No.

Part No. Description

11
12
13
14
15
16
17
18
19
20
21

823304
826039

821521-2
826026
821521-1
823840-2
823292
821521
823306-1
826720

 Screw Blade
‡ Guard Lower

Screw Shoulder
Link Actuator
Screw Shoulder
Retainer Guard

•‡ Spring Guard
Screw Shoulder
Bearing Cam
Bumper
* Standard hardware - may be purchased locally

WARNING: These items are important to the safety of this tool. Do not substitute common parts.

‡ CAUTION: See mechanical assembly caution below.

• WARNING: Uncontrolled spring release or misinstallation of these parts may create a hazard unless
repair is done by a qualified service technician. Repair service is available from authorized RIDGID Ser-
vice Center.

CAUTION: Mechanical Assembly, to qualified service technician.
1. Wear approved eye protection when working with coil spring including spring, arbor lock 823322.
2. Incorrect reassembly of torsion spring 823328 can cause an unsafe condition because cutting head fails

to rise fully to stop, or because spring fails through over-stress.
3. Improper reassembly of mechanisms controlling movement of lower guard 826039 can cause an unsafe

condition because guard fails to operate freely as cutting head is moved up and down.
1


	MITER SAW
	MS1050

	Table of Contents
	and Ears 4
	Squareness to Fence (Miter Alignment) 11
	Slips Or Thrown Pieces 14
	and Ears 14
	With One Cut. 20
	Person Only 24

	Safety Instructions for Miter Saw
	Safety Instructions for Miter Saw (continued)
	CAUTION: This machine is not designed for cutting ferrous metals (steel, iron and iron based meta...
	WARNING: Don't allow familiarity (gained from frequent use of your miter saw) to cause a careless...

	Safety Instructions for Miter Saw (continued)
	Glossary of Terms for Woodworking
	Motor Specifications and Electrical Requirements
	WARNING: Double insulation does not take the place of normal safety precautions when operating th...
	1. Connect tool to power line with the appropriate voltage for your model and 15-amp branch circu...
	2. If the motor won’t start, release the trigger switch immediately and unplug the tool. Check th...
	3. If the motor suddenly stalls while cutting wood, release the trigger switch, unplug the tool, ...
	4. Fuses may “blow” or circuit breakers may trip frequently for the following reasons:
	a. Motor Is Overloaded-Overloading can occur if you feed too rapidly or make too many start/stops...
	b. Line voltages are more than 10% above or below the nameplate voltage. For heavy loads, however...
	c. Improper or dull sawblade is used.


	Motor Specifications and Electrical Requirements
	Unpacking and Checking Contents
	1. Remove the miter saw from the carton by lifting the saw by the carry handle.
	2. Place the saw on a secure stationary work surface and look the saw over carefully.

	Getting to Know Your Miter Saw
	Assembly
	WARNING: For your own safety, never connect plug to power source outlet until all assembly steps ...
	1. Unplug the saw from the outlet.
	2. Loosen the cover plate stop screw with phillips end of the supplied combination wrench.
	3. Lift the lower guard up and rotate the cover plate back so the arbor screw is exposed.
	4. Find the arbor lock between the upper guard and the miter saw handle. Press the arbor lock and...
	5. Place the 1/4” allen end of combination wrench supplied into the arbor screw. Turn the “L” wre...
	6. Install the new 10" blade (see “Basic Blade Requirements”). Make sure the rotation arrow on th...
	7. Install the outer blade collar and arbor screw. Turn the allen wrench counter clockwise to sec...
	8. Lower the lower blade guard until the slot in cover plate rests all the way down on the coverp...
	9. Be sure the arbor lock is released so the blade turns freely.
	1. Locate the dust elbow.
	2. Unplug power cord.
	3. With the miter arm locked in the down position, start the dust elbow onto the dust nozzle at a...
	4. Firmly press the dust elbow the rest of the way onto the second retaining lip.


	Alignment (Adjustments)
	1. To check blade squareness to fence, use a combination square. Place the square against the fen...
	2. If blade contacts full length of square, proceed to next adjustment. If blade is not square to...
	a. Loosen miter lock knob a half turn. The saw power head should still be secured in the lowered ...
	b. With the unit securely resting on a large stable surface, tilt the unit by lifting up on one s...
	c. Return the saw to its normal resting position. Make sure the miter lock knob is loose but do n...
	d. Use the miter saw knob to move the table so that the blade contacts the full length of the squ...
	e. Tilt saw as in Step b and tighten cap head screws.
	f. Recheck blade squareness to fence and readjust if necessary.

	Alignment (Adjustments) (continued)
	1. Loosen the phillips screw that holds the indicator in place.
	2. Reposition the indicator and retighten screw.
	1. Check miter lock knob setting. The miter lock knob should be at the 0˚ position. To reset the ...
	2. Lower the power head and lock the stop shaft. Make sure the bevel index pin is pushed in. Loos...
	3. Using the square, check for accuracy of the 45˚ stop (when the blade makes contact with the fu...
	a. Using the allen wrench provided, loosen the screw which holds the inaccurate bevel index stop.
	b. Move the power head left or right until blade makes contact with full length of square.
	c. Tighten bevel lock knob.
	d. Make sure the index pin is pushed in.
	e. Slide bevel index stop over until it firmly contacts the index pin.
	f. Tighten bevel index stop screw.
	g. Recheck indexes for accuracy.
	1. The miter saw should bevel easily by loosening the bevel lock knob and tilting the power head ...
	a. Loosen the bevel lock knob.
	b. Turn the hex head screw with 1/2” socket clockwise to tighten or counterclockwise to loosen.
	c. Recheck bevel movement of the miter saw. Readjust if necessary.

	Mounting The Miter Saw
	Safety Instructions for Basic Saw Operations
	Safety Instructions for Basic Saw Operations (continued)
	Basic Saw Operations
	When a miter cut is required, loosen the miter lock knob, depress the index spring, and move the ...
	When a bevel cut is required, loosen bevel lock knob and tilt the blade to desired bevel angle. L...
	Occasionally, when cutting a bevel or compound cut, you may need to set the bevel angle a small a...
	Basic Saw Operations (continued)

	When a compound cut is required, select the correct bevel and miter position. Move your feet and ...
	Before cutting a workpiece, check to make sure it is not bowed. If it is bowed the workpiece must...
	Long pieces need extra supports. The supports should be placed along the workpiece so the workpie...
	NOTE: When mounted on a large flat surface, the miter saw table is 3" high. Two finished 2x4's on...
	Certain types of molding need a fence face extension due to the size and position of the workpiec...
	Basic Saw Operations (continued)

	A dimensional 4x4 may be cut with one cut by attaching an auxiliary fence of 7/8" thickness, with...
	To make a miter cut in a 2x4 workpiece (actual 1-5/8" x 3-1/2") in the vertical position (on edge...
	1. Workpiece standing up, usually cut inverted from ceiling mounted orientation. Fixturing: Optio...
	2. Workpiece lying flat for compound cut (see chart and illustration).
	Using Carbide Tipped Blades
	WARNING: To avoid the risk of cutting tool failure and thrown shrapnel (broken pieces of blade) r...

	Maintenance and Lubrication
	1. Lubrication of arm pivot for free movement.
	a. Apply oil between washer and contact face of Table/ Pivot casting.
	b. Apply oil to pivot shaft next to inside surface of ears on arm casting.

	Accessories
	Wiring Diagram
	1. Check commutation at no load. If there is a heavy sparking which follows the curvature of the ...
	2. To continue trouble shooting, now unplug the power cord.
	3. Install new brushes, especially if delayed come-in of brake has been noticed before failure.
	4. Check brake circuit for continuity: Remove motor cap and brushes. Use ohmmeter to check contin...
	5. After repair, check direction of blade rotation vs. guard arrow.

	Troubleshooting Guide
	Repair Parts
	Repair Parts




